 Sample Question Paper

. Which of these is a natural thing?

(A) Rock
(C) Banyan tree
(E) None of these

(B) Waterfall
(D) All of the above

. 3 9 ®I-— & wefae 9 272

(A) =rEmM
(C) T< &I g&T

(E) 37 A ®Ig =TEl

. Living things need .................

(A) Food

(B) Water

(C) Sunlight and air
(D) All of the above
(E) None of these

. ofifaa PRy &1 se7 & fag
(A) 9o

(C) T T udre 3R arg

(E) T 9 3¢ Tel

. Which cannot move by itself?
(A) Snail

(B) Helicopter

(C) Whale

(D) Boy

(E) None of these

. B @y Tfa A8 HR Ahdr?
(A) =T

(C) =d

(B) 19 9 BIg el

(B) SRAT
(D) SWRKH T

(B) BelldhIex

(D) dreld
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. Which was never alive?

(A) Abook

(B) A plastic glass
(C) A pencil

(D) A table

(E) None of these

. DI ol ofifaq g o ?

(A) U fbdre (B) U WiRed Tl
(C) w& e (D) TP A
(E) ¥ ¥ 3Ig T8l

. Ihang from ceilings and wooden beam. I fly but am not a bird. Who am I?

(4) * (8)
(©) ? (D)

(E) None of these

. # Bd 3R APl © 49 | dcadl §, d Isdl g, ofd # uell a2 g, #
DI 5?2

(4) * (8)
(©) ? (D)

(E) $H ¥ &g ol

. We getleather form .........cccooevvvniiiiiiiniinnnn, .
(A) Skin of dead animals (B) Flesh of dead animals
(C) Teeth of dead animals (D) Wool of dead animals

(E) None of these.
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v BH THST ceveeeeeeeiiicieeeeeeeeeeeee e | fiear 21
(A) Hd SRl &I = (B) Id SHaRI &I ARG
(C) Ha uygsll & &1d (D) Id SHRI B H
(B) 7T & @15 =&l

. Which stores fat in its hump?

(A) h}
(©) “‘m

(E) None of these.

. ®IF AU H$ H IUT &I GIE Bl & 7

() h‘ ®)
© “dﬂ (D) h
N i

(E) SH ¥ dlg 78l

. Terrestrial animals live On .....ovvvviiiiinnieieieiiinnnnnns .
(A) Trees (B) Land
(C) Water (D) All of these

(E) None of these.

s T S e, TR VEd © |
(A) g&T (B) 9
(C) ST (D) ¥ A
(E) 37 A ®Ig -TEl
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Plants give us food grains. What are the examples of such grains?
(A) Wheat and Rice (B) Maize and Barley
(C) Gram and Pulses (D) All of these

(E) None of these.

gier g9 W@Tel TS od 8, U8 IFNI & T SS8RUT 8 2

(A) g IR Fmaa (B) H&DI 3R SiY
(C) = 3fR <Ted (D) J TR
(E) 79 9 &g el

What are the similarities between the plants bearing the flowers as shown.
(i) They have weak stems.

(ii) They have woody stems.

(iii) They produce seeds.

(iv) They grow along the ground.
(A) (i) and (ii)

(B) (i) and (iv)

(C) (ii) and (iii)

(D) (i), (ii) and (iii)

(E) None of these

ST Y ol &l &ROT B3 drad gl & 19 Fm g9Eag @ 2
(i) S9® a9 gda 2|

(ii) S9T® a9 9IRD BId 2 |

(iii) 9 dror 9919 2|

(iv) @ g1 & urr faefa s
(A) (i) 3R (i)

(B) (i) 3R (iv)

(C) (ii) 31 (iii)

(D) (i), (i) 3R (iii)

(E) & & 313 &l

The given figure shows a plant with its parts labeled as W, X, Y and Z. Which of the
following is correct regarding this?

(A) We eat Z in the form of groundnut.
(B) We eat X in the form of broccoli.
(C) WeeatY in the form of cabbage.
(D) We eat W in the form of onion.

(E) None of these.
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11.fev @ fax ¥ dig &1 S99 9N W, X, Y 3R Z & «rer AHifea fear
Tr 8 | frEfalRad 4 @ &9 39 aR § 9gl 87
(A) BF Z I qThell & ©Y H @I ¢ |
(B) & X P oMl & ®U H @il ¢ |
(C) BH Y & g™l & wU ¥ @M & |
(D) 8 W &I W & ®U § @M ¢ |
(B) 379 & @IS &l

12. Sameer describes about the plant that he has seen in a field. Identify the plant.
(A) Jute plant
(B) Cotton plant
(C) Coconutplant | ranches. We get soft fibre from it )
(D) Money Plant which is used in stuffing pillows.
(E) None of these. =

It is small plant with hard stem and

12. 9fRA th ulel® IR A quivfears, o SO va A= d o T | 9ie o1 ugarf-y |
(A) SIg T drer
(B) s &I U Ig PN d-T 3R TGS aTell BT

(C) TRIT &1 dlem A1 T B | EH SN oM e U _
(D) #HII Wl gId 8, fO®T manT 8 R afdy
(E) 3T & P ol H B 2 | J '

13. Which of these are not found in pairs?

(A) Eyes (B) Ears
(C) Nose (D) Tongue
(A) A&C (B) C

(C) D (D) C&D

(E) None of these.

13.399 9 &I9 isl o 981 urar ordr 27?2

(A) e (B) &M
(C) -Tdh (D) fH
(A) AQIRC (B) C

(C) D (D) C3IRD
(E) & & 313 el
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NG 011 00) 1 1 N

(A) Sweet (B) Sour
(C) Bitter (D) Salty
(E) None of these.
14. 9 oo Brar 2 |
(A) e (B) el
(C) wgar (D) HDIT
(B) 370 & &g =&
15. Often when we have a cold, we cannot use this sense. Which is it?
(A) Touch (B) Smell
(C) Sight (D) Taste

(E) None of these.

15. AR o4 9 @M 8Idl 2, d4 84 $9 1 bl SYANT &l &R Udhd ¢ |
98 a1 87

(A) v (B) g
(C) <=3 (D) arg
(E) 3T | ®Ig el

16. What part of our body is used to see a red book?
(A) Ears (B) Hands
(C) Eyes (D) Tongue

(E) None of these.

16. BUR INR &T I AT 91T U ol fhbdid I <@ ¥ gIhT foar wrar 27

(A) DI (B) B
(C) aifd (D) o™
(E) T8 ¥ PIs 8l

17. Which of these foods is referred as ‘anti-ageing’ food?

- 9
. |

(E) None of these.
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17.579 9 &g @ra uerel &1 gemur faieh dioe fAfdse fear war 82

(E) S8 & PI ol

18. Which of these is taken least in a balanced diet?
(A) Sugar, butter and oil (B)  Fruits and vegetables
(C) Cereal, gram and pulses (D) Egg, milk and yoghurt

(E) None of these.

18. Ud Hqferd 3R A 39 94 fHasl aad &9 foram ™ 2?2

(A) AN, HaE 3R e (B) Wdl iR Afesar
(C) TS, T 3IR Qe (D) 3iSl, gY 3R &
(E) =7 & I 7Tl

19. We should not skip ‘X’ meal because body requires it the most after hours of gap

between melas. What is ‘X’?

(A) Evening snacks (B) Dinner
(C) Lunch (D) Breakfast
(E) None of these.

19. 89 X’ HIWH 8] BlIsATl 91fav wife sad! 9ol & I=RId & 19 999

3fred MaTIHdr sl 2| X T 27

(A) M9 BT AT (B) Ifnit
(C) ¥R (D) gag bl ATl
(E) & & ®Ig el

20. You may have heard and seen that in North India, people mainly consume Roti

along with other eatables. Whereas, in East India, North-Eastern India and South
India. Cooked rice is mainly consumed. This is because wheat is readily
available in North India and rice is grown more in rest of the India. This main food
is called

(A) Balanced food (B) Stale food

(C) Staple food (D) Junk food

(E) None of these.
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21.

21.

22,

22.

23.

Class — 2

T GAT IR @1 BT B SR AR H, AT &Id: gaR gisg—yardt
@ 1T A BT IUANT B @ | widfeh, gdf wRa, ST8—ygdf 9ra, sfeo
I Ra A, 9® U AGd BT JEId: SUANT fHar wmar 2 | g gufag @
P 18 A ARA q A 4§ U 8l SIrdl 2 AR dddd 9Rd b

Y AET A SfSd AT @ | 39 = AiSA Bl ®ed T |
(A) wgford Smer (B) aRAl HIo

(C) et |1 (D) S Hs

(E) T & oI el

The person who runs the house on a day-to-day basis is ................ .
(A) Father (B) Mother

(C) Grandmother (D) Uncle

(E) None of these.

g Jftp ol fafe & ameaR R o) &1 fafg sRar 2, a8 @ e
(A) foar (B) it

(C) Tl (D) ==

(E) T 1 Pl 7T

Out of the following, which can be played with many members of the family
together?

(A) Reading (B) Football

(C) Cycling (D) All of these

(E) None of these.

fr=fefRag & 4 fa dRIR @ &3 I & A fear S Gebdr 27
(A) U (B) Wedid e

(C) wTSfhd Tl (D) ¥

(E) S8 ¥ PIg gl

Shumitmarried Neha. Theyhadadaughter Roopawho married Randhir. Theyhad
twins. How are the twins related to Shumit and Neha?

(A) Shumit and Neha are the twins’ maternal grandparents

(B) Shumit and Nehar are the twins’ paternal grandparents

(C) They are not related at all

(D) They are distantly related

(E) None of these.



23.

24.

24,

25.

25.
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gffa 9 Aer 9 faae f$ar| S9a e dsal g3, wul, forasr faars Yok
q BT ST Gsdl dod gY | Ssdl g=al &I YT AR 81 9 1 G
27

(A) PHT SR 7T Jedf A B |

(B) YA 3R eT SJedl qr&I—aral 2 |

(C) J faeqma i Hafra =t € |

(D) 9 X A Hefrd g1

(E) SH ¥ dlg 78l

Who keeps the house neat and clean and looks after the needs of the family?
(A) Maid (B) Mother

(C) Father (D) Aunt

(E) None of these.

DI BR DI ATAAGAR AT AR B8R DI A6 JART 1Y @l 27

(A) bR (B) #f

(C) foar (D) =

(B) 19 9 BIg el

We add colour to cloth, the process of colouring cloth is called ........... .
(A) Spinning (B) Weaving

(C) Threading (D) Dyeing

(E) None of these.

g9 BUS] U ¥ STad &8, dUS Bl X1 I ufhar &1 ........... Hed B |
(A) g (B) g

(C) IR () (D) g

(E) & & ®Ig el

26. We get silk from ........cooeveviiniiiiiininiiiiininnnn. .

(A) Sheep m (B) Cow %

(C) Silkworm % (D) Camel %

(E) None of these.
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(A) WS (B) I mﬁ
)
% e \

(©) e @ s PR (D) Se m
— )

(E) & & ®Ig el

27. We get cotton from the cotton ............cccoeviviiiiiiiiiiiiiinn. .
(A) Flower (B) Seed
(C) Stem (D) Fruit

(E) None of these.

27.8H B3, V8 D eovverrnnnennn. I e 21
(A) g9 (B) oo
(C) o (D) W
(B) 19 9 BIg el
28. From which material are these made?
(A) Cotton (B) Waterproof
(C) Silk (D) Silk

(E) None of these.

28. 3 fdg ugref 4 s4 27

(A) S (B) SIeRIE®
(C) =™ (D) e
(E) 3 A 3Ig =&

29. In which of these places people make light houses of wood and paper?
(A) Mumbai
(B) Kashmir
(C) Japan
(D) London
(E) None of these.

10
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29. 5519 @ fH Ml IR ol <l 3R dATS & YHINRIG ox) I §-1d 2 7

(A) gw% (B) HIR
(C) SIurE (D) <<
(B) 3T & PIs ol

30. Why do people put wiremesh on their doors and windows?
(A) It allows sunlight and air to come in
(B) It keeps the house warm and dark.
(C) It stops the entry of mosquitoes and files.
(D) Both (A) and (C)
(E) None of these.

30. oI YA <Rl AR Rgsfeal R arR &1 Srell | o 87
(A) T8 gIF & UHT R a1g B 3fER 37 <l 2 |
(B) IE TR Bl TH R 3fER F Wl 2|
(C) I8 #BRI 3R Afdedl &1 3+ I Ahdl 2 |
(D) (A)3MR(C) T
(E) 19 A g el

Darken your choice with HB Pencil
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